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”strong=”5375|�������� x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”0”�
4 strong=”5921|��� a” x-morph=”OSHM:HR”������|strong=”3651 c” x-
morph=”OSHM:HTm” x-cantillationLevel=”1.1.0” ”strong=”6313|��������
x-morph=”OSHM:HVqi3fs” ”strong=”8451|�������� x-morph=”OSHM:HNcfsa”
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x-morph=”OSHM:HTd/Aamsa” x-cantillationLevel=”0.1” strong=”5921|���
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1C
2Q Marks a place where we agree with BHQ against BHS in reading L.
3n Marks an anomalous form.
4p We read punctuation in L differently from BHS.
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x-morph=”OSHM:HVqp3fs” ”strong=”5315|��/������� x-morph=”OSHM:HNcbsc/Sp3ms”
x-cantillationLevel=”1.0” ”strong=”b|��/��� x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”1” ”strong=”c/6662|��������/�� x-morph=”OSHM:HC/Aamsa”
x-cantillationLevel=”0.0” ”strong=”b/530|��/���������/��� x-morph=”OSHM:HR/Ncfsc/Sp3ms”
”strong=”2421|�������� x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”0”�
5 ”strong=”c/637|����/�� x-morph=”OSHM:HC/D” x-cantillationLevel=”1.1.0”
strong=”3588|����� a” x-morph=”OSHM:HC”�������/���|strong=”d/3196”
x-morph=”OSHM:HTd/Ncmsa” ”strong=”898|�������� x-morph=”OSHM:HVqrmsa”
x-cantillationLevel=”1.1” ”strong=”1397|������� x-morph=”OSHM:HNcmsa”
”strong=”3093|������� x-morph=”OSHM:HAamsa” x-cantillationLevel=”1.0”
”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn” strong=”5115|��������
b” x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”1” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”7337|��������� x-morph=”OSHM:HVhp3ms”
”strong=”k/7585|��������/��� x-morph=”OSHM:HR/Np” x-cantillationLevel=”0.2.1.0”
”strong=”5315|��/������� x-morph=”OSHM:HNcbsc/Sp3ms” x-cantillationLevel=”0.2.1”
”strong=”c/1931|�����/�� x-morph=”OSHM:HC/Pp3ms” ”strong=”k/4194|��������/��
x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”0.2.0” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn” ”strong=”7646|���������� x-morph=”OSHM:HVqi3ms”
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x-cantillationLevel=”0.2” ”strong=”c/622|���������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”413|��/����� x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0.1.0”
”strong=”3605|���� x-morph=”OSHM:HNcmsc”��������/���|strong=”d/1471
a” x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0.1” ”strong=”c/6908|����������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”413|�/������ x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”3605|���� x-morph=”OSHM:HNcmsc”��������/���|strong=”d/5971
a” x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0”� 6 ”strong=”i/3808|����/��
x-morph=”OSHM:HTi/Tn”��������|strong=”428” x-morph=”OSHM:HPdxcp”
”strong=”3605|�/������ x-morph=”OSHM:HNcmsc/Sp3mp” x-cantillationLevel=”1.1.1”
strong=”5921|��/����� a” x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1.1.0”
”strong=”4912|������� x-morph=”OSHM:HNcmsa” ”strong=”5375|����������
x-morph=”OSHM:HVqi3mp” x-cantillationLevel=”1.1” ”strong=”c/4426|���������/��
x-morph=”OSHM:HC/Ncfsa” x-cantillationLevel=”1.0” ”strong=”2420|��������
x-morph=”OSHM:HNcfpa” ”strong=”l|��/�� x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”1” ”strong=”c/559|�������/�� x-morph=”OSHM:HC/Vqi3ms”
x-cantillationLevel=”0.2.1” ”strong=”1945|����� x-morph=”OSHM:HTj” x-
cantillationLevel=”0.2.0” strong=”d/7235|����������/�� a” x-morph=”OSHM:HTd/Vhrmsa”
”strong=”3808|���� x-morph=”OSHM:HTn”��/���|strong=”l” x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0.2” ”strong=”5704|��� x-morph=”OSHM:HR”�������|strong=”4970”
x-morph=”OSHM:HTi” x-cantillationLevel=”0.1” ”strong=”c/3513|����������/��
x-morph=”OSHM:HC/Vhrmsa” strong=”5921|�/������ a” x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”5671|��������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 7 ”strong=”i/3808|�����/�� x-morph=”OSHM:HTi/Tn”
”strong=”6621|������ x-morph=”OSHM:HD” x-cantillationLevel=”1.1.1”
strong=”6965|���������� b” x-morph=”OSHM:HVqi3mp” x-cantillationLevel=”1.1.0”
strong=”5391|��/��������� a” x-morph=”OSHM:HVqrmpc/Sp2ms” x-cantillationLevel=”1.1”
”strong=”c/6974|��������/�� x-morph=”OSHM:HC/Vqi3mp” x-cantillationLevel=”1.0”
”strong=”2111|��/������������ x-morph=”OSHM:HVlrmpc/Sp2ms” x-
cantillationLevel=”1” ”strong=”c/1961|��������/�� x-morph=”OSHM:HC/Vqq2ms”
”strong=”l/4933|�����������/�� x-morph=”OSHM:HR/Ncfpa” x-cantillationLevel=”0.0”
”strong=”l|���/��� x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”0”�
8 strong=”3588|����� a” x-morph=”OSHM:HC” 5 We agree with both BHS
1997 and BHQ on an unexpected reading. strong=”859|������� a” x-
morph=”OSHM:HPp2ms” strong=”7997|����������� b” x-morph=”OSHM:HVqp2ms”
x-cantillationLevel=”1.1.0” strong=”1471|�������� a” x-morph=”OSHM:HNcmpa”
strong=”7227|�������� a” x-morph=”OSHM:HAampa” x-cantillationLevel=”1.1”
strong=”7997|��/���������� b” x-morph=”OSHM:HVqi3mp/Sp2ms” x-
cantillationLevel=”1.0” ”strong=”3605|���� x-morph=”OSHM:HNcmsc”�������|strong=”3499
a” x-morph=”OSHM:HNcmsc” strong=”5971|�������� a” x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”1” ”strong=”m/1818|�������/�� x-morph=”OSHM:HR/Ncmpc”
”strong=”120|������ x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1.0”
”strong=”c/2555|�����/�� x-morph=”OSHM:HC/Ncmsc”�������|strong=”776”
x-morph=”OSHM:HNcbsa” x-cantillationLevel=”0.1” ”strong=”7151|��������
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.0” ”strong=”c/3605|���/��
5U



10 CONTENTS

x-morph=”OSHM:HC/Ncmsc”����������|strong=”3427” x-morph=”OSHM:HVqrmpc”
”strong=”b|��/��� x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”0”�
� 9 ”strong=”1945|����� x-morph=”OSHM:HTj” x-cantillationLevel=”1.0.1”
”strong=”1214|�������� x-morph=”OSHM:HVqrmsa” x-cantillationLevel=”1.0.0”
”strong=”1215|������� x-morph=”OSHM:HNcmsa” strong=”7451|����
a” x-morph=”OSHM:HAamsa” x-cantillationLevel=”1.0” strong=”l/1004|��/�����/��
b” x-morph=”OSHM:HR/Ncmsc/Sp3ms” x-cantillationLevel=”1” strong=”l/7760|������/��
a” x-morph=”OSHM:HR/Vqc” ”strong=”b/4791|��������/��� x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”0.1.0” ”strong=”7064|��/����� x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0.1” ”strong=”l/5337|���������/�� x-morph=”OSHM:HR/VNc”
x-cantillationLevel=”0.0” ”strong=”m/3709|����/�� x-morph=”OSHM:HR/Ncfsc”�����|strong=”7451
b” x-morph=”OSHM:HAamsa” x-cantillationLevel=”0”� 10 ”strong=”3289|����������
x-morph=”OSHM:HVqp2ms” ”strong=”1322|�������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”1.0” strong=”l/1004|��/������/�� b” x-morph=”OSHM:HR/Ncmsc/Sp2ms”
x-cantillationLevel=”1” ”strong=”7096|������ x-morph=”OSHM:HVqc”���������|strong=”5971
a” x-morph=”OSHM:HNcmpa” strong=”7227|�������� a” x-morph=”OSHM:HAampa”
x-cantillationLevel=”0.0” ”strong=”c/2398|�������/�� x-morph=”OSHM:HC/Vqrmsa”
”strong=”5315|��/�������� x-morph=”OSHM:HNcbsc/Sp2ms” x-cantillationLevel=”0”�
11 strong=”3588|���� a” x-morph=”OSHM:HC”�������|strong=”68” x-
morph=”OSHM:HNcfsa” x-cantillationLevel=”1.0” ”strong=”m/7023|������/��
x-morph=”OSHM:HR/Ncmsa” ”strong=”2199|��������� x-morph=”OSHM:HVqi3fs”
x-cantillationLevel=”1” ”strong=”c/3714|�������/�� x-morph=”OSHM:HC/Ncmsa”
x-cantillationLevel=”0.0” ”strong=”m/6086|����/�� x-morph=”OSHM:HR/Ncmsa”
strong=”6030|����/������� b” x-morph=”OSHM:HVqi3ms/Sp3fs” x-cantillationLevel=”0”�
� 12 ”strong=”1945|����� x-morph=”OSHM:HTj” x-cantillationLevel=”1.0.0”
”strong=”1129|������� x-morph=”OSHM:HVqrmsa” strong=”5892|�����
b” x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.0” ”strong=”b/1818|�������/���
x-morph=”OSHM:HR/Ncmpa” x-cantillationLevel=”1” strong=”c/3559|�������/��
a” x-morph=”OSHM:HC/Voq3ms” ”strong=”7151|�������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”0.0” strong=”b/5766|��������/��� b” x-morph=”OSHM:HR/Ncbsa”
x-cantillationLevel=”0”� 13 ”strong=”i/3808|�����/�� x-morph=”OSHM:HTi/Tn”
”strong=”2009|������� x-morph=”OSHM:HTm” x-cantillationLevel=”1.1”
”strong=”m/854|����/�� x-morph=”OSHM:HR/R” x-cantillationLevel=”1.0”
”strong=”3068|������� x-morph=”OSHM:HNp” strong=”6635|���������
b” x-morph=”OSHM:HNcbpa” x-cantillationLevel=”1” ”strong=”c/3021|����������/��
x-morph=”OSHM:HC/Vqi3mp” strong=”5971|�������� a” x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”0.1.0” ”strong=”b/1767|���/��� x-morph=”OSHM:HR/Ncmsc”������|strong=”784”
x-morph=”OSHM:HNcbsa” x-cantillationLevel=”0.1” ”strong=”c/3816|����������/��
x-morph=”OSHM:HC/Ncmpa” x-cantillationLevel=”0.0” ”strong=”b/1767|���/���
x-morph=”OSHM:HR/Ncmsc”������|strong=”7385” x-morph=”OSHM:HNcmsa”
”strong=”3286|�������� x-morph=”OSHM:HVqi3mp” x-cantillationLevel=”0”�
14 strong=”3588|����� a” x-morph=”OSHM:HC” x-cantillationLevel=”1.1.0”
”strong=”4390|���������� x-morph=”OSHM:HVNi3fs” ”strong=”d/776|������/��
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”1.1” ”strong=”l/3045|������/��
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”1.0” ”strong=”853|��� x-
morph=”OSHM:HTo”���������|strong=”3519” x-morph=”OSHM:HNcbsc”
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”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”k/4325|�������/��� x-morph=”OSHM:HRd/Ncmpa” x-cantillationLevel=”0.0”
”strong=”3680|��������� x-morph=”OSHM:HVpi3mp” strong=”5921|���
a” x-morph=”OSHM:HR”�����|strong=”3220” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� � 15 ”strong=”1945|����� x-morph=”OSHM:HTj”
x-cantillationLevel=”1.1.0” ”strong=”8248|��������� x-morph=”OSHM:HVhrmsc”
”strong=”7453|���/����� x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1.1”
strong=”5596|���������� a” x-morph=”OSHM:HVprmsa” ”strong=”2573|���/������
x-morph=”OSHM:HNcfsc/Sp2ms” x-cantillationLevel=”1.0” ”strong=”c/637|����/��
x-morph=”OSHM:HC/D” ”strong=”7937|�������� x-morph=”OSHM:HVpa”
x-cantillationLevel=”1” ”strong=”4616|�������� x-morph=”OSHM:HR”
”strong=”5027|�������� x-morph=”OSHM:HVhc” x-cantillationLevel=”0.0”
strong=”5921|��� a” x-morph=”OSHM:HR”����/���������|strong=”4589”
x-morph=”OSHM:HNcmpc/Sp3mp” x-cantillationLevel=”0”� 16 ”strong=”7646|�����������
x-morph=”OSHM:HVqp2ms” ”strong=”7036|������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.1.0” ”strong=”m/3519|��������/�� x-morph=”OSHM:HR/Ncbsa”
x-cantillationLevel=”1.1” ”strong=”8354|������� x-morph=”OSHM:HVqv2ms”
”strong=”1571|��� x-morph=”OSHM:HD”��������|strong=”859 a” x-
morph=”OSHM:HPp2ms” x-cantillationLevel=”1.0” ”strong=”c/6188|���������/��
x-morph=”OSHM:HC/VNv2ms” x-cantillationLevel=”1” ”strong=”5437|���������
x-morph=”OSHM:HVqi3fs” strong=”5921|��/������ a” x-morph=”OSHM:HR/Sp2ms”
x-cantillationLevel=”0.1.1” strong=”3563|������ a” x-morph=”OSHM:HNcfsc”
x-cantillationLevel=”0.1.0” ”strong=”3225|������� x-morph=”OSHM:HNcfsc”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.1”
”strong=”c/7022|����������/�� x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”0.0”
strong=”5921|��� a” x-morph=”OSHM:HR”��/����������|strong=”3519”
x-morph=”OSHM:HNcbsc/Sp2ms” x-cantillationLevel=”0”� 17 strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”2555|������ x-morph=”OSHM:HNcmsc”
”strong=”3844|��������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0”
”strong=”3680|���/�������� x-morph=”OSHM:HVpi3ms/Sp2ms” x-cantillationLevel=”1.1”
”strong=”c/7701|�����/�� x-morph=”OSHM:HC/Ncmsc” ”strong=”929|����������
x-morph=”OSHM:HNcfpa” x-cantillationLevel=”1.0” ”strong=”2865|�/��������
x-morph=”OSHM:HVhi3ms/Sp3fp” x-cantillationLevel=”1” ”strong=”m/1818|�������/��
x-morph=”OSHM:HR/Ncmpc” ”strong=”120|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.1.0” ”strong=”c/2555|�����/�� x-morph=”OSHM:HC/Ncmsc”�������|strong=”776”
x-morph=”OSHM:HNcbsa” x-cantillationLevel=”0.1” ”strong=”7151|��������
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.0” ”strong=”c/3605|���/��
x-morph=”OSHM:HC/Ncmsc”����������|strong=”3427” x-morph=”OSHM:HVqrmpc”
”strong=”b|��/��� x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”0”�
� 18 ”strong=”4100|���� x-morph=”OSHM:HTi”���������|strong=”3276”
x-morph=”OSHM:HVhp3ms” ”strong=”6459|������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.1.1” strong=”3588|����� a” x-morph=”OSHM:HC”
”strong=”6458|���/����� x-morph=”OSHM:HVqp3ms/Sp3ms” x-cantillationLevel=”1.1.0”
”strong=”3336|��/������� x-morph=”OSHM:HVqrmsc/Sp3ms” x-cantillationLevel=”1.1”
strong=”4541|��������� a” x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.0”
strong=”c/3384|�������/�� b” x-morph=”OSHM:HC/Vhrmsa” ”strong=”8267|��������
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x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1” strong=”3588|����� a”
x-morph=”OSHM:HC” ”strong=”982|������ x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”0.1.0.0” ”strong=”3335|������ x-morph=”OSHM:HVqrmsa”
”strong=”3336|���/����� x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0.1.0”
strong=”5921|�/������ a” x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0.1”
strong=”l/6213|��������/�� a” x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”0.0”
”strong=”457|���������� x-morph=”OSHM:HNcmpa” ”strong=”483|����������
x-morph=”OSHM:HAampa” x-cantillationLevel=”0”� � 19 ”strong=”1945|�����
x-morph=”OSHM:HTj” ”strong=”559|������ x-morph=”OSHM:HVqrmsa”
”strong=”l/6086|����/�� x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1.1.0”
”strong=”6974|�/�������� x-morph=”OSHM:HVhv2ms/Sh” x-cantillationLevel=”1.1”
”strong=”5782|������� x-morph=”OSHM:HVqv2fs” x-cantillationLevel=”1.0”
”strong=”l/68|������/�� x-morph=”OSHM:HR/Ncfsc” ”strong=”1748|��������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1” ”strong=”1931|�����
x-morph=”OSHM:HPp3ms” strong=”3384|������� b” x-morph=”OSHM:HVhi3ms”
x-cantillationLevel=”0.2” ”strong=”2009|������ x-morph=”OSHM:HTm”������|strong=”1931”
x-morph=”OSHM:HPp3ms” x-cantillationLevel=”0.1.1” ”strong=”8610|���������
x-morph=”OSHM:HVqsmsa” x-cantillationLevel=”0.1.0” ”strong=”2091|������
x-morph=”OSHM:HNcmsa” ”strong=”c/3701|������/�� x-morph=”OSHM:HC/Ncmsa”
x-cantillationLevel=”0.1” ”strong=”c/3605|���/�� x-morph=”OSHM:HC/Ncmsc”�������|strong=”7307”
x-morph=”OSHM:HNcbsa” x-cantillationLevel=”0.0” ”strong=”369|�����
x-morph=”OSHM:HTn” ”strong=”b/7130|��/�������/��� x-morph=”OSHM:HR/Ncmsc/Sp3ms”
x-cantillationLevel=”0”� 20 ”strong=”c/3068|������/��� x-morph=”OSHM:HC/Np”
x-cantillationLevel=”1.0” ”strong=”b/1964|�������/��� x-morph=”OSHM:HR/Ncmsc”
”strong=”6944|��/������� x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1”
”strong=”2013|���� x-morph=”OSHM:HTj” ”strong=”m/6440|�/�������/��
x-morph=”OSHM:HR/Ncbpc/Sp3ms” x-cantillationLevel=”0.0” ”strong=”3605|����
x-morph=”OSHM:HNcmsc”������/���|strong=”d/776” x-morph=”OSHM:HTd/Ncbsa”
x-cantillationLevel=”0”� �3 ”strong=”8605|���������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.0”

”strong=”l/2265|����������/�� x-morph=”OSHM:HR/Np” ”strong=”d/5030|��������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1” strong=”5921|����

a” x-morph=”OSHM:HR” x-cantillationLevel=”0.0” ”strong=”7692|������������
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 2 ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.1” ”strong=”8085|������������
x-morph=”OSHM:HVqp1cs” strong=”8088|���/������� b” x-morph=”OSHM:HNcmsc/Sp2ms”
x-cantillationLevel=”1.2.0” ”strong=”3372|��������� x-morph=”OSHM:HVqp1cs”
x-cantillationLevel=”1.2” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.2” ”strong=”6467|���/�������� x-morph=”OSHM:HNcmsc/Sp2ms”
x-cantillationLevel=”1.1.1” ”strong=”b/7130|������/��� x-morph=”OSHM:HR/Ncmsc”
”strong=”8141|�������� x-morph=”OSHM:HNcfpa” x-cantillationLevel=”1.1.0”
”strong=”2421|���/������� x-morph=”OSHM:HVpv2ms/Sp3ms” x-cantillationLevel=”1.1”
”strong=”b/7130|������/��� x-morph=”OSHM:HR/Ncmsc” ”strong=”8141|��������
x-morph=”OSHM:HNcfpa” x-cantillationLevel=”1.0” ”strong=”3045|����������
x-morph=”OSHM:HVhj2ms” x-cantillationLevel=”1” ”strong=”b/7267|������/���
x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”0.0” ”strong=”7355|������
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x-morph=”OSHM:HVpa” ”strong=”2142|����������� x-morph=”OSHM:HVqj2ms”
x-cantillationLevel=”0”� 3 ”strong=”433|��������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.1.0” 6 We agree with both BHS 1997 and BHQ on an
unexpected reading. ”strong=”m/8487|��������/�� x-morph=”OSHM:HR/Np”
”strong=”935|������� x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”1.1”
”strong=”c/6918|��������/�� x-morph=”OSHM:HC/Aamsa” ”strong=”m/2022|���/���
x-morph=”OSHM:HR/Ncmsc”���������|strong=”6290” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” ”strong=”5542|������ x-morph=”OSHM:HTj” x-
cantillationLevel=”1” ”strong=”3680|�������� x-morph=”OSHM:HVpp3ms”
”strong=”8064|���������� x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0.1.0”
”strong=”1935|��/����� x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0.1”
”strong=”c/8416|��/���������/�� x-morph=”OSHM:HC/Ncfsc/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”4390|�������� x-morph=”OSHM:HVqp3fs”
”strong=”d/776|������/�� x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”0”�
4 ”strong=”c/5051|��������/�� x-morph=”OSHM:HC/Ncfsa” x-cantillationLevel=”1.1.0”
”strong=”k/216|�����/��� x-morph=”OSHM:HRd/Ncbsa” ”strong=”1961|����������
x-morph=”OSHM:HVqi3fs” x-cantillationLevel=”1.1” strong=”7161|����������
a” x-morph=”OSHM:HNcbda” ”strong=”m/3027|��/�����/�� x-morph=”OSHM:HR/Ncbsc/Sp3ms”
x-cantillationLevel=”1.0” ”strong=”l|��/�� x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”1” ”strong=”c/8033|�����/�� x-morph=”OSHM:HC/D”
x-cantillationLevel=”0.0” ”strong=”2253|��������� x-morph=”OSHM:HNcmsc”
”strong=”5797|�/������ x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0”�
7 Marks a place where we agree with BHQ against BHS in reading L. 8
5 ”strong=”l/6440|�/������/�� x-morph=”OSHM:HR/Ncbpc/Sp3ms” x-
cantillationLevel=”1.0” ”strong=”3212|������� x-morph=”OSHM:HVqi3ms”
”strong=”1698|������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1”
”strong=”c/3318|������/�� x-morph=”OSHM:HC/Vqi3ms” ”strong=”7565|�������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0” ”strong=”l/7272|�/��������/��
x-morph=”OSHM:HR/Ncfdc/Sp3ms” x-cantillationLevel=”0”� 6 ”strong=”5975|������
x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”1.2.1.0” � ”strong=”c/4128|��������/��
x-morph=”OSHM:HC/Vow3ms” ”strong=”776|������ x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”1.2.1” ”strong=”7200|������ x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”1.2.0” strong=”c/5425|��������/�� a” x-morph=”OSHM:HC/Vhw3ms”
strong=”1471|�������� a” x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.2”
strong=”c/6327|���������������/�� a” x-morph=”OSHM:HC/Vrw3mp”
x-cantillationLevel=”1.1.0” ”strong=”2042|������� x-morph=”OSHM:HNcmpc”�����|strong=”5703”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1” ”strong=”7817|�������
x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”1.0” ”strong=”1389|����������
x-morph=”OSHM:HNcfpc” ”strong=”5769|������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” ”strong=”1979|���������� x-morph=”OSHM:HNcfpc”
”strong=”5769|������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0”
”strong=”l|��/�� x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0”� 7
6U
7Q
8q We have abandoned or added a ketib/qere relative to BHS. In doing this we agree with L

against BHS.
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”strong=”8478|������� x-morph=”OSHM:HR” ”strong=”205|������ x-
morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1” ”strong=”7200|���������
x-morph=”OSHM:HVqp1cs” x-cantillationLevel=”1.0” ”strong=”168|��������
x-morph=”OSHM:HNcmpc” ”strong=”3572|�������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”7264|�/����������� x-morph=”OSHM:HVqi3mp/Sn”
x-cantillationLevel=”0.1” ”strong=”3407|���������� x-morph=”OSHM:HNcfpc”
x-cantillationLevel=”0.0” ”strong=”776|������ x-morph=”OSHM:HNcbsc”
”strong=”4080|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
� 8 ”strong=”i/b/5104|���������/��/�� x-morph=”OSHM:HTi/R/Ncmpa”
x-cantillationLevel=”1.2.0” ”strong=”2734|������ x-morph=”OSHM:HVqp3ms”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.2”
strong=”518|���� a” x-morph=”OSHM:HC” ”strong=”b/5104|����������/���
x-morph=”OSHM:HRd/Ncmpa” x-cantillationLevel=”1.1.0” ”strong=”639|��/������
x-morph=”OSHM:HNcmsc/Sp2ms” x-cantillationLevel=”1.1” strong=”518|���
a” x-morph=”OSHM:HC”�����/����|strong=”b/3220” x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”1.0” ”strong=”5678|��/��������� x-morph=”OSHM:HNcfsc/Sp2ms”
x-cantillationLevel=”1” strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”7392|���������
x-morph=”OSHM:HVqi2ms” x-cantillationLevel=”0.1.0” strong=”5921|���
a” x-morph=”OSHM:HR”��/��������|strong=”5483 b” x-morph=”OSHM:HNcmpc/Sp2ms”
x-cantillationLevel=”0.1” ”strong=”4818|��/������������� x-morph=”OSHM:HNcfpc/Sp2ms”
x-cantillationLevel=”0.0” ”strong=”3444|���������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”0”� 9 ”strong=”6181|�������� x-morph=”OSHM:HNcfsa”
”strong=”5783|������� x-morph=”OSHM:HVNi3fs” x-cantillationLevel=”1.1.0”
”strong=”7198|��/��������� x-morph=”OSHM:HNcfsc/Sp2ms” x-cantillationLevel=”1.1”
”strong=”7621|���������� x-morph=”OSHM:HNcfpa” ”strong=”4294|��������
x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.0” ”strong=”562|������
x-morph=”OSHM:HNcmsa” ”strong=”5542|������ x-morph=”OSHM:HTj”
x-cantillationLevel=”1” ”strong=”5104|��������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”0.0” ”strong=”1234|��������� x-morph=”OSHM:HVpi2ms”�������|strong=”776”
x-morph=”OSHM:HNcbsa” x-cantillationLevel=”0”� 10 ”strong=”7200|��/������
x-morph=”OSHM:HVqp3cp/Sp2ms” strong=”2342|���������� a” x-morph=”OSHM:HVqi3mp”
x-cantillationLevel=”1.1.0” ”strong=”2022|������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”1.1” ”strong=”2230|������ x-morph=”OSHM:HNcmsc”
”strong=”4325|������ x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.0”
strong=”5674|������ a” x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”1”
”strong=”5414|������ x-morph=”OSHM:HVqp3ms” ”strong=”8415|��������
x-morph=”OSHM:HNcbsa” x-cantillationLevel=”0.1.0” strong=”6963|��/�����
a” x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0.1” ”strong=”7315|�����
x-morph=”OSHM:HNcmsc” x-cantillationLevel=”0.0” ”strong=”3027|���/������
x-morph=”OSHM:HNcbdc/Sp3ms” ”strong=”5375|������� x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”0”� 11 ”strong=”8121|�������� x-morph=”OSHM:HNcbsa”
”strong=”3394|������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0”
”strong=”5975|������ x-morph=”OSHM:HVqp3ms” ”strong=”2073|�/�������
x-morph=”OSHM:HNcmsa/Sd” x-cantillationLevel=”1” ”strong=”l/216|�����/��
x-morph=”OSHM:HR/Ncbsc” ”strong=”2671|���/������� x-morph=”OSHM:HNcmpc/Sp2ms”
x-cantillationLevel=”0.1.0” ”strong=”1980|����������� x-morph=”OSHM:HVpi3mp”
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x-cantillationLevel=”0.1” ”strong=”l/5051|�������/�� x-morph=”OSHM:HR/Ncfsc”
x-cantillationLevel=”0.0” strong=”1300|������� b” x-morph=”OSHM:HNcmsc”
”strong=”2595|��/�������� x-morph=”OSHM:HNcfsc/Sp2ms” x-cantillationLevel=”0”�
12 ”strong=”b/2195|������/��� x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”1.0”
”strong=”6805|�������� x-morph=”OSHM:HVqi2ms”�������|strong=”776”
x-morph=”OSHM:HNcbsa” x-cantillationLevel=”1” ”strong=”b/639|����/���
x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”0.0” ”strong=”1758|���������
x-morph=”OSHM:HVqi2ms” strong=”1471|�������� a” x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”0”� 13 ”strong=”3318|��������� x-morph=”OSHM:HVqp2ms”
x-cantillationLevel=”1.1.0” ”strong=”l/3468|�������/�� x-morph=”OSHM:HR/Ncmsc”
strong=”5971|��/������ a” x-morph=”OSHM:HNcmsc/Sp2ms” x-cantillationLevel=”1.1”
”strong=”l/3468|�������/�� x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”1.0”
”strong=”854|��� x-morph=”OSHM:HR”��/����������|strong=”4899”
x-morph=”OSHM:HNcmsc/Sp2ms” x-cantillationLevel=”1” ”strong=”4272|����������
x-morph=”OSHM:HVqp2ms” strong=”7218|������� a” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.1.0” strong=”m/1004|������/�� b” x-morph=”OSHM:HR/Ncmsc”
”strong=”7563|������� x-morph=”OSHM:HAamsa” x-cantillationLevel=”0.1”
”strong=”6168|������� x-morph=”OSHM:HVpa” x-cantillationLevel=”0.0.0”
”strong=”3247|������� x-morph=”OSHM:HNcmsa” ”strong=”5704|���
x-morph=”OSHM:HR”���������|strong=”6677 a” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.0” ”strong=”5542|������ x-morph=”OSHM:HTj” x-
cantillationLevel=”0”� � 14 strong=”5344|���������� a” x-morph=”OSHM:HVqp2ms”
”strong=”b/4294|��/������/�� x-morph=”OSHM:HR/Ncmpc/Sp3ms” x-
cantillationLevel=”1.1.0” strong=”7218|������ a” x-morph=”OSHM:HNcmsc”
”strong=”6518|�/��� x-morph=”OSHM:HNcmsc/Sp3ms” x-wType=”x-ketiv”
9 ”strong=”5590|���������� x-morph=”OSHM:HVqi3mp” x-cantillationLevel=”1.0”
strong=”l/6327|���/��������/�� a” x-morph=”OSHM:HR/Vhc/Sp1cs”
x-cantillationLevel=”1” ”strong=”5951|�/����������� x-morph=”OSHM:HNcfsc/Sp3mp”
x-cantillationLevel=”0.1” ”strong=”3644|������ x-morph=”OSHM:HR”������/���|strong=”l/398”
x-morph=”OSHM:HR/Vqc” ”strong=”6041|������ x-morph=”OSHM:HAamsa”
x-cantillationLevel=”0.0” ”strong=”b/4565|����������/��� x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”0”� 15 ”strong=”1869|����������� x-morph=”OSHM:HVqp2ms”
”strong=”b/3220|�����/�� x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1.0”
strong=”5483|��/������� b” x-morph=”OSHM:HNcmpc/Sp2ms” x-cantillationLevel=”1”
strong=”2563|������ b” x-morph=”OSHM:HNcmsc” x-cantillationLevel=”0.0”
”strong=”4325|������ x-morph=”OSHM:HNcmpa” strong=”7227|��������
a” x-morph=”OSHM:HAampa” x-cantillationLevel=”0”� 16 ”strong=”8085|������������
x-morph=”OSHM:HVqp1cs” x-cantillationLevel=”1.1.1.0” � ”strong=”c/7264|����������/��
x-morph=”OSHM:HC/Vqw3fs” ”strong=”990|�/�������� x-morph=”OSHM:HNcfsc/Sp1cs”
x-cantillationLevel=”1.1.1” strong=”l/6963|�����/�� a” x-morph=”OSHM:HR/Ncmsa”
x-cantillationLevel=”1.1.0” ”strong=”6750|�������� x-morph=”OSHM:HVqp3cp”
”strong=”8193|�/�������� x-morph=”OSHM:HNcfdc/Sp1cs” x-cantillationLevel=”1.1”
”strong=”935|������� x-morph=”OSHM:HVqi3ms” ”strong=”7538|������

9+ ”strong=”6518|�/����������/��� x-morph=”OSHM:HNcmpc/Sp3ms” x-
cantillationLevel=”1.1”
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x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0.0” ”strong=”b/6106|�/�������/���
x-morph=”OSHM:HR/Ncfpc/Sp1cs” x-cantillationLevel=”1.0” ”strong=”c/8478|�/��������/��
x-morph=”OSHM:HC/R/Sp1cs” ”strong=”7264|��������� x-morph=”OSHM:HVqi1cs”
x-cantillationLevel=”1” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”5117|��������� x-morph=”OSHM:HVqi1cs” x-cantillationLevel=”0.1.0”
”strong=”l/3117|�����/�� x-morph=”OSHM:HR/Ncmsc” strong=”6869|������
b” x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.1” ”strong=”l/5927|�������/��
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”0.0” strong=”l/5971|����/��
a” x-morph=”OSHM:HR/Ncmsa” ”strong=”1464|����/�������� x-morph=”OSHM:HVqi3ms/Sp1cp”
x-cantillationLevel=”0”� 17 strong=”3588|����� a” x-morph=”OSHM:HC”���������|strong=”8384”
x-morph=”OSHM:HNcfsa” ”strong=”3808|���� x-morph=”OSHM:HTn”���������|strong=”6524
a” x-morph=”OSHM:HVqi3fs” x-cantillationLevel=”1.2.1” ”strong=”c/369|�����/��
x-morph=”OSHM:HC/Tn” ”strong=”2981|������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.2.0” ”strong=”b/1612|����������/��� x-morph=”OSHM:HRd/Ncbpa”
x-cantillationLevel=”1.2” ”strong=”3584|�������� x-morph=”OSHM:HVpp3ms”
x-cantillationLevel=”1.1.0” ”strong=”4639|�������� x-morph=”OSHM:HNcmsc”�������|strong=”2132”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1” ”strong=”c/7709|����������/��
x-morph=”OSHM:HC/Ncfpa” x-cantillationLevel=”1.0” ”strong=”3808|���
x-morph=”OSHM:HTn”��������|strong=”6213 a” x-morph=”OSHM:HVqp3ms”
”strong=”400|������ x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1”
”strong=”1504|������� x-morph=”OSHM:HVqp3ms” ”strong=”m/4356|���������/��
x-morph=”OSHM:HR/Ncbsa” x-cantillationLevel=”0.1.0” ”strong=”6629|�����
x-morph=”OSHM:HNcbsa” x-cantillationLevel=”0.1” ”strong=”c/369|�����/��
x-morph=”OSHM:HC/Tn” ”strong=”1241|������� x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”0.0” ”strong=”b/7517|���������/��� x-morph=”OSHM:HRd/Ncmpa”
x-cantillationLevel=”0”� 18 ”strong=”c/589|������/�� x-morph=”OSHM:HC/Pp1cs”
x-cantillationLevel=”1.0” ”strong=”b/3068|������/��� x-morph=”OSHM:HR/Np”
”strong=”5937|����������� x-morph=”OSHM:HVqh1cs” x-cantillationLevel=”1”
”strong=”1523|��������� x-morph=”OSHM:HVqh1cs” x-cantillationLevel=”0.0”
”strong=”b/430|�������/��� x-morph=”OSHM:HR/Ncmpc” ”strong=”3468|�/��������
x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”0”� 19 ”strong=”3069|��������
x-morph=”OSHM:HNp” 10 Marks a place where we agree with BHQ against
BHS in reading L. 11 12 ”strong=”136|��/������ x-morph=”OSHM:HNcmpc/Sp1cs”
x-cantillationLevel=”1.2.0” ”strong=”2428|�/������ x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”1.2” strong=”c/7760|��������/�� a” x-morph=”OSHM:HC/Vqw3ms”
”strong=”7272|��/������ x-morph=”OSHM:HNcfdc/Sp1cs” x-cantillationLevel=”1.1.0”
”strong=”k/355|����������/���� x-morph=”OSHM:HRd/Ncfpa” x-cantillationLevel=”1.1”
strong=”c/5921|����/�� a” x-morph=”OSHM:HC/R” ”strong=”1116|�/���������
x-morph=”OSHM:HNcfpc/Sp1cs” x-cantillationLevel=”1.0” ”strong=”1869|���/���������
x-morph=”OSHM:HVhi3ms/Sp1cs” x-cantillationLevel=”1” ”strong=”l/5329|����������/��
x-morph=”OSHM:HRd/Vprmsa” x-cantillationLevel=”0.0” ”strong=”b/5058|������������/���
x-morph=”OSHM:HR/Ncfpa” x-cantillationLevel=”0”�

10Q
11n Marks an anomalous form.
12p We read punctuation in L differently from BHS.


